19 | 4 [Ecrou H, M5
18 | 4 |Vis Hc a téton long M5x30
17 | 2 |Plaque d'arret
16 | 1 |Goupille elastique 5x25
15 | 1 [Bouton
14 | 1 |Vis Hc a bout tronconique M5 x 6
13 | 1 |Bague
12 | 1 |Vis de manoeuvre
11 | 1 |Ecrou M16 x 1.25 a droite
10 | 1 |Mors male
9 | 1 |EcrouM16 x 1.25 a gauche
8 | 4 |Noix
7 | 1 |Mors femelle
6 | 4 |Vis Chc M5x15
5| 1 |Calejeu
4 | 6 |Vis Chc M6x12
3 | 1 |Contre plaque
2 | 1 |Contre plaque
1| 1 |Semelle
Rep{Nb Désignation
L.P. Alfred Costes 93000 Echelle

ETAU A CENTRER

_@_E_

Annexe 1




	Feuille1
	Vue de mise en plan1
	Vue de mise en plan2


